ATH 1 2 Series 243X %0 Ball Screw Drive

Il)&
‘:|

LERHEE, HEMRELRTER,

B RITIE A oo | IEEER oo | BB HLBY P
Maximum Stroke Maximum Speed Motor Output Ball Screw Linear Guide

BERFHR

ATH10-L10-100-M-M10B-C 4-0001

AhRS i?ﬂ:; Tﬁ FE R

Special Order No
Ball Screw Brand Stroke

REAH 100-1050mm

50i8f& 50mmPitch
L BT SR ‘ DA E M o5&, HE R R 2R i 2 AR PR 2K =%
Ball SVrew Lead Motor Position Motor Brand Home Sensor Limit Sensor
02 {2mm M DRES P| #AT Panasonic_|10/100W|B ShiEH Out Side ShEH Out Side
05 |5mm - F———— C| D&M Motor Side 3] 1m 1P
16 | 16mm BC SiASNR M| =% Mitsubishi |20) - D| RDikf Opposite Motor Side 4 20 2Pc
20 | 20mm BM OE TR Y| &Il Yaskawa  |40| - 7 SENSOR No Sensor 7 SENSOR No Sensor
BL| DR T| it Tota  |75| - E[ % SENSORNoSensor 5] 3 SENSOR No Sensor
BR Py Fiil

032




ATH12 Sseries

EAR#E Specificatio BN SRR E < ER Rinm >

(B E S5 Repeatability(mm) +0.01 le 3
=] ®~j %
24T S72 Belt Lead(mm) 5 10 16 20 out Loc
- T 5~24v
I 4 | BB Maximum Speed(mm/s) 250 | 500 | 800 | 1000 © (mme)
go| mxmmmm | AFERHoontlkg) 50 | 30 | 22 | 18 f’
b :
Maximum Payload | g g4 Fvertical(kg) 12 | 8 5 3
E&H#ES Rated Thrusr(N) 341 170 106 85
FRIfE4THE Stroke Pitch(mm) 100-1050/50 &R
ACfAfR DA% & AC Servo Motor Outout (W) 100
zn%. RERIRHSMZ Ball Screw @ (mm) C7 2 16
o |BRMEEZLEH  High Rigidity Linear Guide(mm) W20xH7. 5
AR
BE##ES Couping (mm) 10x8 w%
q EE-SX672(NPN) g 5
R SRR 8 Home Sensor ‘ﬁl\}i Outside EE_SXBTA(NPN) %?é
i+
TR 7500, &7 A BT RIE L EHE B R E AR, *DikInEEIZE0.2F —3:
&
o) N >_
BiFH#A18ERN.m Allowable Overhang N
g
¢
MY g%
A L
c MR 3
A
B B >
MP
c A o i
¢ 5%
i
(B {I:mm) (B{:mm) (B f2:mm) KEIERE  (SA:mm) 96
KEZE| A | B | C WEZE| A | B | C BERE| A | C MY 150 (N) >_
5| 30kg 1200|158 | 311| [g[ 10kg | 126] 60 |800| |g| Skg | 412|398 MP 128(3)
72| 50kg [1100] 124 | 124 72| 20kg | 70 | 30 | 600 = [ 10kg | 394 | 356 MR (N) iz
5 - | -] -]- 5| 30kg | 50 | 15 | 476 5| 12kg | 357 | 355 i3
2| 15kg [1000| 190 | 250 &| 10kg | 264 | 180 | 700 2| 4kg | 711|578 gg
#£| 25kg | 900 | 190 | 170 2| 20kg | 150 | 80 |515 2| 6kg |534 | 414
10| 30kg | 850 | 124 | 122 10| 30kg | 72 | 32 | 422 10| 8kg |411|376 >—
=] 5kg [21501365| 982 =| 5kg |1068| 976 |1579 =| kg |1210[1210
72| 10kg [1190] 462 [ 427 72| 10kg | 405 | 278 | 776 72| 2kg [1174]1174 2@
16| 22kg [1270| 242 | 291 16| 22kg | 220 | 107 | 680 16| 5kg | 650 | 650 %
g/ 5kg [1936]1229] 882 =| 6kg [958 8751420 8| - - | - iy
72| 10kg [1039| 418 | 387 72| 12kg | 361/ 248 | 696 == - | -
20 15kg [1073| 220 | 264 20| 15kg | 107 | 95 | 610 20| 3kg | 639|639 >—
A = At I~ A mf
EELRIAR DiA—Y%a R Suitable Motor Brand 3
§
=
kg Sixigs NEFEL DixRE BIREE FARDIXES RE/E S ,ag
Brand Mark Brake Watt AC-Voltage Motor Model Driver Model
=z FHZE (KPR ) 100 220 HG-KR13 MR-J4-10A >'_
Misubishi| - M g (mmste) 100 220 HG-KR13B MR-J4-10A el
iR TR (kT ) 100 220 MSMDO012P1S MADHT1505 i
Panasonic P BHE (BERH) 100 220 MSMDO12P1T MADHT1505 j;§
ki
&k T TRFE (KFREE) 100 220 ECMA-C20401ES ASD-B20121-B =
Delta BHE (EHRHE) 100 220 ECMA-C20401FS ASD-B20121-B

033




ATH12 series

12 4FIR3h Ball Screw Drive

GRS 2535 iTiE 1265
RE o AR
2005+ 1 7 7151
il
i
- 7 7
3
® | g H ° ! e
= - - - -
= [ | ! e
. =]
; e T
susas /B EN 2-@5x12 H7 ﬁ
%430 %
o5 " 4-M5x10
- - 50 XE R B AL
] |
R = — —
0 [] T ] [ [ q
- 1}
85
102
108.5 100 M-200 ) A 75
P
p o [23 23 = i
w| 2
ks
\ Lﬂ ot o4 —
N-26 N-M5x9
1185 100 M200 A 615
750 800 850 900 950 1000 1050
L 480 | 530 | 580 | 630 | 680 | 730 | 780 830 | 880 | 930 | 980 | 1030 | 1080 | 1130| 1180| 1230 | 1280 | 1330| 1380| 1430
'O 200| 50 | 100 | 150 | 200 | 50 | 100 | 150] 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150
M ol 111122223 a|s|as]a]a]ala]ls]s]s
N 6| 8| 8| 8| 8|10 w0|1w0|w|2|w2|2] 4] wa]a]|n]|iwe]iw]re
[l 554] 593] 632] 671] 7.1 | 7.49 7588 | 8.27| 866 | 9.05| 9.44| 083 [ 1022 1061 11 [11.39]11.78] 12.17] 12.56| 12.95
/ . q . j- ﬁl\ ==
S
LT ER L
e RARAIS B 1265
8221
- w0 AEHRR
7151
MOTOR(92) 72
! | o
- = * ! e
E H — — — -
- ‘ | — 3 I i [} ®
: i
‘ #%+30 e =
4-M5x15 )
2-25x12 H7
95 " 4-M5x10
r———‘ 50 MEERLEHTL
T T
BRIV \ r — a
10T & ! H"i =
: - H =] ] I
Il Il
85
102 0 M*200 ) A ‘ 75
T
[T I3 o .
[ n:tﬂ’\:? gl €
| L _ _ _ _
i
Lo
& o4 o4 —{—
‘ 100 / ‘ M*200 A 61.5
N2 N-M5x9
150 550 600 650 700 750 800 950 1000 1050
L 361.5(411.5 |461.5 |511.5 |561.5 |611.5|661.5(711.5 761.5 |811.5 |861.5 | 911.5|961.5 [1011.5[1061.5[1111.5[1161.5[1211.5(1261.5(1311.5|
P 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 [ 150 |200 | 50 | 100 | 150
Y o [+ [ [+ 12222 s |a[s]aala]a]s 5]
(O : |6 |6 |6 |6 |8 |8 |8 |8 [10]10 ][0 12]|w2|2|2]|un]|wn]1n
(W 5.07 | 5.46 |5.84 | 623 [6.62 [ 7.01 | 74 |7.78 | 817 | 856 | 895 | 934 | 972 [10.11] 105 [1089 [11.28 | 11.68 |12.05]12.44

034




ATH12 Sseries

DAL

BaFA121 AUATIE 1265
REHHRR 90 AETHRR
68+ 1

74 71521

YEEZ

uornpoiul Aueduioy

104
5

sy

N 4-Ms5x15
2-@5x12 H7.
177.5

4-M5x10 95
s0  MEMRMLEALL —

6 piEpUEIS

2

ke

%5 ¥

L

ig

U

1 N-M5x8.5

85
102

Jownioy o prepuEIS
g3 S QTR R A 30

BHITE 100 400 450 500 800 850 900 950 1000 1050

(BN 347.5 | 397.5 | 447.5 | 497.5 | 547.5 | 597.5 | 647.5 |697.5 [747.5 |797.5 | 847.5|897.5 |947.5 | 997.5 [1047.5(1097.5(1147.5(1197.5[1247.5(1297.5

A 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150

p———
6% S BFEHEIT %X

M 0 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5

N 4 6 6 6 6 8 8 8 8 10 10 10 10 12 12 12 12 14 14 14

KG 545 | 584 | 6.23 | 6.61 7 7.39 | 7.77 | 816 | 8.55 | 8.94 | 9.32 | 9.71 | 10.1 |10.48(10.87 [11.26 [11.64 |12.03 |12.42 | 12.81

Jolenioy Yog ook wosIo
6% S BIFRESR T L

iR AH R e

4-M5x15

104
95

¥

LR
2k adoin3 Joremoy ea prEpUEIS
6% B MR

AETERR 74 E BEAARR
681 % 7151

BaRSA121 BHITRE 126.5

L 177.5

11 4-M5x10 ‘ 95
50 4 R ~ ]
EARAEATL

j
L
70
e
162 TR

85
102

N-M5x8.5 N-26

1
N
adAL yog sV BN
R H/EWYTEE

N
<
>

M*200 A 715

HHITE 100 150 850 900 950 1000 1050

L 347.5|397.5|447.5| 497.5|547.5|597.5 | 647.5 | 697.5| 747.5| 797.5 |847.5 | 897.5 | 947.5 | 997.51047.5[1097.5[1147.5[1197.5(1247.5(1297.5|

A 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150

adA) me1og I1eg Sy NN
L/ E W EE

M 0 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5

N 4 6 6 6 6 8 8 8 8 10 10 10 10 12 12 12 12 14 14 14

BN 545|584 | 623 | 661| 7 |7.39|777|816|855|894|932|971| 10.1|10.48|10.87|11.26|11.64 |12.03 |12.42 | 12.81

035




036

ATH12 series

124FIKzh Ball Screw Drive

/@:E&‘ﬁj—l‘?ﬁ

L
BARE 121 G 1265
90
N X 9 ,
f%nsﬁélw‘ﬂﬂﬁ i 2-@5x12 H7 REYURRIR
= — % awmsas 75x1
=
3 i
I o
7
L
i
4 — & _ E 3l
4-M5x10
HTARIETTL o
a—
T =" i °
T el =
} Iq
I N
M200 A 615 85
I 1 102
—
= =
w| 2
2
g s
N-M5x8.5 N-26
76 200 A 75
AHGTE 100 150 200 250 300 350 400 450 500 550 90 950 1000 1050
MO c:7 5| 307.5] 447.5| 497 5| 547.5| 597.5| 647.5| 697.5| 747.5 | 797.5| 847.5| 897.5| 947.5 | 097.5 |1047.5/1097.5[1147.51197.5[1247 51297 5]
POl 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150
U o |+ | 1| 1| 1|22 2]|2|3|3|3|3|4a|a|ala]|s|s]|5s
(O : | 6 | 6 | 6|6 | 8 | 8| 8|8 | 10|10 10|10 12| 12]|12|12]|14]|14]14
KG 545 | 584 | 6.23 | 6.61 7 7.39 | 7.77 | 8.16 | 8.55 | 8.94 | 9.32 | 9.71 | 10.1 [10.48|10.87|11.26|11.64 [12.03 [12.42 | 12.81




AFEN 21 = AR HERA RS TARBHERARG TLEHEBA R BX MR 7 3 5 FZ)E A5 ERHUR T/ R A E T/ ARFTE

Company Introduction Standard Belt Actuator Clson Ball Screw Actuator Glson Room Bet Actuator Standard Belt Actuator Europe Type Rod Type Actuator Mul Axs Belt Type Ml Axis Ball Screw Type

037

0
Q
5
n
o\
T
—
<




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6

